Std. dev. d sum p_/dndg{GeV]

Ratio to ATLAS

N
N

N

=
o

1.6

1.4

1.2

0.8

0.6

0.4

0.2

0.5

7000 GeV pp
L B B B

B ATLAS

----- ¢ Sherpa 1.4.2 default

Std. dev.Z(pT) (nl <25, p_>0.5GeV)

pnder!ying Event

Rivet 3.1.10, 100k events

P

mcplots.cern.ch [arXiv:1306.3436]

N

g

[ I R RO RO AU RSO AU AN AN AN NAPUY NPUY NPUT HPUN AU NPT NPT SR TP I
: |||||||| | T T T T | T T T T |_
- LW TE] - ¢ ’ 0 :
B ‘f‘ e R Sy o r — 1
| ’ ?"j ’ _: ""§. B
u O ST 5 _

—0.5

P, (leading track) [GeV]



	Contents
	Page 1


